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Time : 2 Hours]
Instructions : (1) Attempt any two questlons out of Questlon No. 1 to 4
) Questlon No.5is compulsory ' 0

SECTION I ‘

1. The standard mix of a product is as follof¥s
Material | kgs. | Price per ‘
A

20

B
c
& ori of the product was 8100 kgs.

onsumption of material and cost were as follows :

aterial | kgs. | Price per kg (%)
A 4800 9
B 3000 -7
C 2200 9.

-You are required to calculate the following variances :
(1) Material cost variance
(2) Material price variance

| (3)' Material usage variance
(4) Material mix variance

(5) Material yield variance
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2. From
M
(2
3)
4)
(%)

the following information, calculate :

Sales value variance

Sales .price variance

Sales volume variance
Sales mix variance

Sales sub-volume variance

Standard -

Actual

Product

Sales

Units Price per

~ unit (%)

Price per

Sales

unit (%)

8000 8

™

7000 10

10000 7

25000

3. Misha

Limited wants to

2,58,000

e for which two mutually exclusive
ine Y. The details are given below :

Machine X () | Machine Y (%)
15,00,000 20,00,000
5 years 5 years
1,50,000 4,00,000
3,00,000 6,00,000
4,50,000 - 3,00,000
5,00,000 7,00,000
6,00,000 2,00,000

Company’s cost of capital is 10%

Calculate :

(1) Net present value

(2)  Profitability index and suggest which machiqé should be purchased.

Present value of Z 1 at 10% discount rate is as follows :

Year

1 2

3.

4

Present Value

0.909 .| 0.826

0.751

0.683

0.621
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4.  Answer the following questions : 20
(1) Mr. Niraj wants to invest T 2,00,000 for 4 years under two options :

Option — 1 : Quarterly compound interest at 12% p.a.
Option — 2 : Annually compound interest at 14%
Which of the two options would be more profitable ?

Under A-1 table of compound interest :

The factor value of ¥ 1 at the end of 16 years at 3% p.a. is 1.605.
The factor value of ¥ 1 at the end of 4 years at 14% p.a. is 1. 689
2) Explam the concept of “Time Value of Money”. \

SECTION -1I \
5. Select the correct answer for the following sub-questio 10
(1) Labour idle time variance will always be

(a) Adverse
(c) Zero
(2) Theeffi c1ency varianc

of the above
Rate Variance

(d) None of the above
raw material in productlon may lead to material

n avourab]e (b Févourable
Zero (d) None of the above
Expenditure Variance = :
(¢)  Actual Quantity — Budgeted Quantity
(d) None of the above

(a) Budgeted Cost — Actual Cost
(5)  The details of overhead cost are as follows :

Cos

(b) Actual Cost — Budgeted Cost

Particulars Standard | Actual
Variable Overheads (%) 1,00,000 | 1,20,000
Production Units 20,000 | 22,000
Hours 20,000 | 22,500
(a) -2500 (b) +2500
() -1500 (d) None of the above

. AF-107 | , | | DD



(6)

(M
®)

©)

(10)

(12)

. AF-107

. (a) Payback period

Fixed overhead volume variance = .
(a) Standard Rate (Actual quantity — Budgeted quantity) |
(b) 'Standard Rate (Budgeted quantity — Actual quantity)
(c) Actual Rate (Budgeted quantity — Actual quantity)
(d) None of the above '

In which method discount factor is highly necessary ?
(b). Net present value

(c) Average rate of return (d) None of the above s
Compound interest is calculated on ; '
(a) Principal amount - (b) Princip_al amount + ‘nt‘st \

(¢) Interest amount (d) None of the above
A “Zero” net present value indicates . ' o
(a) Payback period

Internal rate of return

(b)

(c) Rate of return on average iny /0 :

(d) None of the above

While evaluating capit t osals, the time value of money is

consideredin ; A :
Pay- i - (b) Discounted cash flow method '

(d) None of the above
oncept of time value of money, the value of money is

Tt
qual in all years

Higher in earlier years than in later years

Higher in later years than in earlier years

None of the above

Present value of a project is ¥ 6,00,000 and investment is ¥ 5,00,000. The

profitability index will be o

@ 0.83 (b) 120
(¢) 1.25 (d) None of the above
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